e-10032 1.12 Deriving Formulas in Two Variables Supplemental Problems


1. Solve for y:  4x – 2y = 10

2. Solve for y:  3x – 4y = 12

3. Solve for y:  5x – 4y = 20

4. Solve for y:  4x + 2y = 10

5. Solve for y:  3x + 4y = 12

6. Solve for y:  5x + 4y = 20

7. Solve for y:  –4x + 2y = 10

8. Solve for y:  –3x + 4y = 12

9. Solve for y:  –5x + 4y = 40

10. Solve for y:  –4x + 2y = –10

11. Solve for y:  –3x + 4y = –12

12. Solve for y:  –5x + 4y = –40

13. Solve for y:  6x + 2y = –14

14. Solve for y:  3x + y = –7

15. Solve for y:  –0.4x + 0.2y = 1

16. Solve for y:  –0.3x + 0.4y = 1.2

17. Solve for y:  –0.5x + 0.4y = 2

18. Solve for y:  
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19. Solve for y:  
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20. Solve for y:  
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21. Solve for x:  4x – 12y = 180

22. Solve for x: –4x – 12y = –180

23. Solve for x: 3x – 6y = 180

24. If 2(x + y) = 7, then, in terms of x, y =

A)  
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C)  7 – 2x
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25. Find the value of m if x = 4:

17 = mx + 9

26. Find the value of m if x = –12
108 = mx –12
27. Find the value of m if x = 12

–96 = mx –12

28. Find the value of m if x = –11
–22 = mx –12

29. Find the value of m if x = 5

–13 = mx –7

30. Find the value of m if x = 120
190 = mx +10
31. Find the width of a rectangle whose perimeter is 39 inches and whose length is 11 inches.
32. What is the perimeter of a rectangular card whose dimensions are 3 inches by            5 inches?
33. What is the perimeter of a rectangular picture that is 6 inches wide and 8 inches long?
34. What is the perimeter of a rectangular picture with dimensions 2 in by 4 in? 
35. What is the perimeter of a rectangular drawing that has a width of 6.7 inches and a length of 9.8 inches?

Answers: Sec 1.12 10032
1. y = 2x – 5

2. 
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4. y = –2x + 5

5. 
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6. 
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7. y = 2x + 5

8. 
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9. 
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10. y = 2x – 5 

11. 
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12. 
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13. y = –3x – 7 

14. y = –3x – 7 

15. y = 2x + 5

16. 
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[image: image17.wmf]5

4

5

+

=

x

y


18. y = 2x + 5

19. 
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20. 
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21. x = 3y + 45

22. x = –3y + 45

23. x = 2y + 60
24. A)

25. m = 2

26. m = –10

27. m = –7

28. 
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30. m = 1.5

31. w = 8.5 in.

32. P = 16 in.

33. P = 28 in.

34. P = 12 in.

35. P = 33 in.
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